
𝑓′ 𝑓

0 ≤ 𝑥 ≤ 8 𝑓′ 𝑥 = 1, 𝑥 = 3,   𝑥 = 5

𝑓′ 𝑥 𝑓

𝑓(8) = 4

𝑓 0 ≤  𝑥 ≤  8

0 ≤ 𝑡 ≤ 6 

9
3

2

𝑤(𝑡) = 12 − 12𝑒−0.5𝑡 0 ≤ 𝑡 ≤ 6 𝑤(𝑡)

𝑡 𝑡

3

𝑓 0 ≤ 𝑡 ≤ 6 𝑓(𝑡)

𝑡

𝑓′(𝑡) = 𝑡2 − 4𝑡 + 4

𝑡 = 0 𝑡 = 3

𝑟(𝑡) = 2𝑒−0.1𝑡 𝑡

𝑡 = 0 𝑡 = 5

2𝑒−0.5 − 2 0.2 − 0.2𝑒−0.5 4 − 4𝑒−0.5 20 − 20𝑒−0.5



𝑓 −3 ≤ 𝑥 ≤ 4 𝑓(0) = 3 𝑓′

𝑓 𝑓(−3) 𝑓(4).

𝑟(𝑡) 𝑡 𝑡

0 ≤ 𝑡 ≤ 12 𝑟′(𝑡)

𝑉 =
4

3
𝜋𝑟3

∫ 𝑟′(𝑡)𝑑𝑡
12

0
∫ 𝑟′(𝑡)𝑑𝑡
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0

𝑓(𝑡) 𝑡

12 ∫ 𝑓(𝑡)𝑑𝑡
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𝑡
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𝑟′(𝑡)
5.7 4.0 2.0 1.2 0.6 0.5



8

√𝑡 + 1 0 ≤ 𝑡 ≤ 120 𝑡 = 0 30

𝑡 = 3

𝑊 𝑡 𝑊(𝑡)

𝑡 𝑊 ′(𝑡)

0 ≤ 𝑡 ≤ 30 𝑡 = 30 125

∫ 𝑊′(𝑡)𝑑𝑡
30

0
𝑊(𝑡)

𝑡 = 0

𝐴 𝐴(𝑡)

𝑡 𝐴 0 ≤ 𝑡 ≤ 30

0 ≤ 𝑡 ≤ 30
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𝑊′(𝑡)
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𝐵 𝐵(𝑡)

𝑡 𝐵 0 ≤ 𝑡 ≤ 20

0 ≤ 𝑡 ≤ 20

188

150

38

15



𝑓(0) = −8 𝑓(4) = 0 𝑓(6) = −3 𝑓(8) = 4

27𝜋

𝑡 = 2 ln 2 𝑡 = 0

𝑡 = 3

𝑓(4) = −5 + 2𝜋 𝑓(−3) =
9

2

∫ 𝑟′(𝑡)𝑑𝑡
12

0
≈ 2(4.0) + 3(2.0) + 2(1.2) + 4(0.6) + 1(0.5) = 19.3 ∫ 𝑟′(𝑡)𝑑𝑡

12

0

𝑡 = 0 𝑡 = 12

∫ √𝑡 + 1 𝑑𝑡
3

0
=

14

3
. 𝑡 = 3 30 + 24 −

14

3
=

148

3
= 49

1

3

∫ 𝑊′(𝑡)𝑑𝑡 = 10(0.6) + 12(0.7) + 8(1.0) = 22.4
30

0

     𝑊(0) = 𝑊(30) − ∫ 𝑊′(𝑡)𝑑𝑡
30

0
= 125 − 22.4 = 102.6


